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Note : 

(i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What do you understand by the Cognitivist 
approach to learning ? Compare the Cognitivist 
approach to learning with the Behaviourist 
approach to learning. 

OR 

Explain the nature of teaching. Discuss the 
objectives of teaching at the primary stage. 
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2. Answer the following question in about 
600 words : 

Explain the concept and nature of learning 
difficulties. Discuss the remedial steps for 
removing learning difficulties in primary school 
children. 

OR 

Explain the concept and nature of cooperative 
learning and give its need. Discuss in detail any 
one method of cooperative leaning. 

3. Answer any four of the following questions in 
about 150 words each : 

(a) Explain the meaning of peer tutoring and its 
merits. 

(b) What do you mean by continuous and 
comprehensive evaluation ? 

(c) Explain the meaning of classroom 
questioning and its types. 

(d) Explain the concept and nature of pupil 
participation in primary schools with 
suitable examples. 

(e) Describe briefly the structure and use of 
cumulative records. 

(0 Explain the skill of narration and how 
effectively it can be used in primary classes. 
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. Answer the following question in about 

600 words 

As a primary school teacher, you want to 

organize some learning activities for your 

students. What activities would you like to 

organize in your school ? Discuss the criteria for 

selection of these activities. 
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